Chapter 13

RECONDITIONING ENGINE BLOCK COMPONENTS

Directions:

 A.
Use a pencil and Scantron answer form

 B.
Write your name on the answer form 

 C.
Mark the letter choice of the best answer

 D.
Do not write on the test

 1.
Machinist A says that pin clearance in full-floating pistons is .0003 to .0005 in.  Machinist B says that pin clearance in oscillating pistons is .0003 to .0005 in.  Who is right?

a.
A only



c.
Both A and B

b.
B only



d.
Neither A or B

 2.
Machinist A says that the specified interference in rods for full-floating piston pins is .0008 to .0012 in.  Machinist B says that the specified clearance in pistons for full-floating piston pins is .0003 to .0005 in.  Who is right?

a.
A only



c.
Both A and B

b.
B only



d.
Neither A or B

 3.
Machinist A says that piston pin clearances in pistons decrease as temperatures drop.  Machinist B says that piston pin fits in rods remain unchanged as temperatures rise or fall.  Who is right?

a.
A only



c.
Both A and B

b.
B only



d.
Neither A or B

4.
Machinist A says that to assemble press fit pins in rods, heat the small end of the rod to 425 degrees F.  Machinist B says that to press them into place, press from one side only.  Who is right?

a.
A only



c.
Both A and B

b.
B only



d.
Neither A or B

 5.
The cylinders and pistons are in good condition but piston clearance is more than spec.  Machinist A says knurling the pistons may help.  Machinist B says hone the cylinders and install new rings.  Who is right?

a.
A only



c.
Both A and B

d.
B only



d.
Neither A or B

6.
Machinist A says fit knurled pistons by stroking them through cylinders before honing for clearance.  Machinist B says that knurled pistons require no fitting.  Who is right?

a.
A only



c.
Both A and B

b.
B only



d.
Neither A or B

7. 
Machinist A says that glaze breaker hones produce the finish required for seating iron rings.  Machinist B says that these hones reduce taper and improve roundness of cylinders.  Who is right?

a.
A only



c.
Both A and B

b.
B only



d.
Neither A or B

8.       Machinist A says that in OE production, cylinders are bored in relation to mains              and the pan rails.  Machinist B says that for portable boring bars to position                    cylinders correctly, the deck and mains must be parallel to each other.  Who is               right?

a.
A only



c.
Both A and B

b.
B only



d.
Neither A or B

9.
Machinist A says that cylinders should be bored square (perpendicular) with main bore centerline.  Machinist B says that honing corrects cylinder alignment and position. Who is right?

a.
A only



c.
Both A and B

b.
B only



d.
Neither A or B

10.
Machinist A says drive cylinder sleeves into place with a hammer and driver.  Machinist B says shrink fit them by heating the block and possibly chilling the sleeve.  Who is right?

a.
A only



c.
Both A and B

b.
B only



d.
Neither A or B

11.
Machinist A says bore cylinders 1/2 in. past the bottom to allow for honing.  Machinist B says that honing stones must travel past the bottom and top of a cylinder to help produce a straight cylinder.  Who is right?

a.
A only



c.
Both A and B

b.
B only



d.
Neither A or B

12.     Machinist A says that chrome and cast iron rings require cylinder finishes in the             10 to 15 RA range.  Machinist B says that moly rings require 25 to 35 RA cylinder            finishes.  Who is right?

a.
A only



c.
Both A and B

b.
B only



d.
Neither A or B

13.      Cylinder sleeves for passenger car engines are available in _____ in. wall                      thickness.

a.
1mm
b.
3/32

c.
1/8

d.
3/32 or 1/8

14. A 4.000” bore is honed .002” larger for clearance.  The ring end-gap has

a.
decreased .001 in.

b.
decreased .003 in.

c.
increased .006 in.

d.
increased .009 in.

15. Machinist A says that rods must be straight within .001” in 6 inches.  Machinist B says that rods must be free of twist within .001”.  Who is right?

a.
A only



c.
Both A and B

b.
B only



d.
Neither A or B

16. Machinist A says start by grinding .002” per side, or .004” total, from rod parting lines for resizing.  Machinist B says remove more if necessary to obtain clean-up of the parting surfaces.  Who is right?

a.
A only



c.
Both A and B

b.
B only



d.
Neither A or B

17. Bellmouthed or tapered rod housing bores most often result from

a.
high speed operation

b.
insufficient cap and rod grinding

c.
low speed operation
d.
improper honing technique
18. Using the following specifications, calculate the correct housing bore diameter.

Shaft diameter
2.4995 in.

Oil clearance

  .0015 in.

Bearing thickness
  .0736 in.

a.
2.5746 in.

b.
2.6482 in.

c.
2.6497 in.

d.
2.5761 in.

19. Machinist A says align rods after honing housing bores to size.  Machinist B says that rod aligning is always necessary if pin bushings are bored parallel to housing bores.  Who is right?

a.
A only



c.
Both A and B

b.
B only



d.
Neither A or B

20. Machinist A says correct bend before twist when aligning rods.  Machinist B says that it makes no difference whether bend or twist is corrected first.  Who is right?

a.
A only



c.
Both A and B

b.
B only



d.
Neither A or B

21. Machinist A says that to assemble pistons and rods without pressing, heat small ends to 600 degrees F.  Machinist B says that if heated to this temperature, pin bores may not return to size.  Who is right?

a.
A only



c.
Both A and B

b.
B only



d.
Neither A or B

22. A connecting rod housing bore is .004” undersize after grinding the cap and rod. After resizing to specification the center-to-center distance will

a.
be unaffected

b.
lengthen .004 in.

c.
shorten .004 in.

d.
shorten .002 in.

23. Machinist A says that resizing rods restores oil clearance.  Machinist B says that resizing restores bearing crush.  Who is right?

a.
A only



c.
Both A and B

b.
B only



d.
Neither A or B

24. Using the information below, calculate the shaft diameter.

Bearing thickness

  .0585 in.

Housing bore diameter
2.1185 in.

Oil clearance


  .0015 in.

a.
1.9985 in.

b.
2.0000 in.

c.
2.0015 in.

d.
2.0585 in.

25. Using the information below, calculate bearing clearance.

Shaft diameter          2.3495 in.

Bearing thickness        .0744 in.

Housing Bore            2.5000 in.

a. .0761 in.

b. .0170 in.

c. .0021 in.

d.
.0017 in.

26. Machinist A says that tapered, hourglass shaped, or out-of- round crankshaft journals cause poor lubrication.  Machinist B says that excessive polishing may cause out-of-round journals.  Who is right?

a.
A only



c.
Both A and B

b.
B only



d.
Neither A or B

27. Machinist A says to harden crankshafts with an oxy-acetyline torch.  Machinist B says that “Tuff-trided” shafts are hardened by soaking in cyanide salt solution.  Who is right?

a.
A only



c.
Both A and B

b.
B only



d.
Neither A or B

28. Damaged crankpins or journals are welded before grinding to

a.
repair cracks

b.
restore fillets

c.
correct stroke lengths

d.
minimize undersizes or keep standard diameters

29. Machinist A says that after regrinding crankshafts, chamfer oil holes and polish journals.  Machinist B says remove any oil plugs and scrub oil holes.  Who is right?

a.
A only



c.
Both A and B

b.
B only



d.
Neither A or B

30. Machinist A says correct crankshaft thrust wear by welding and grinding to specifications.  Machinist B says grind for oversize thrust bearings.  Who is right?

a.
A only



c.
Both A and B

b.
B only



d.
Neither A or B

31. Machinist A says that unless timing gear concentricity to mains is maintained, timing gears wear and make noise. Machinist B says that unless journal concentricity to seal surfaces is maintained, leaks from the front or rear are likely.  Who is right?

a.
A only



c.
Both A and B

b.
B only



d.
Neither A or B

32. A thrust main cap (parting surface) ground at the wrong angle

a.
increases shaft endplay

b.
decreases shaft endplay

c.
misaligns bores

d.
reduces bearing oil clearance

33. Correcting housing bore alignment with multiple diameters in a block requires

a.
line boring

b.
line honing

c.
shimming main caps

d.
fitting bearings selectively

34. Machinist A says that after line boring or honing, check for increased timing gear lash.  Machinist B says check for decreased timing chain slack.  Who is right?

a.
A only



c.
Both A and B

b.
B only



d.
Neither A or B

35. Machinist A says reface flywheels parallel to mounting surfaces on the reverse    side.  Machinist B says maintain the depths of recessed flywheels or clutch          operation will be affected.  Who is right?

a.
A only



c.
Both A and B

b.
B only



d.
Neither A or B

36. When oil pump gears or rotors wear pump housings oversize,

a.
fit new gears

b.
fit oversize gears

c.
remachine the pump

d.
replace the pump

37. Machinist A says that oil pump pick-ups must fit tightly or oil becomes aerated.  Machinist B says that aeration result from missing oil plugs.  Who is right?

a.
A only



c.
Both A and B

b.
B only



d.
Neither A or B
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